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And on their daughters because of another thing

Overview

The &3 stated that the o151 were M3 on the daughters of 0131 because of the
concern that the X% will serve 1"'v. However our X3 here was not clear what they
were 713 on 177°M12. Our MHON clarifies this issue.

mooin asks:
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And if you will say; it is understood according to the view which explains the

77°1) on 77°NM2 in the second P22 of "'y noon -
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That they were 913 on 17790112 seclusion; then it is reasonable to issue that decree

because of preventing "'y -
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However according to the one who maintains that they were n171 9113 on 37750013,
how is this decree applicable to prevent 1"y —

N150IN answers:
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And one can say; that since they were n172 913 on 17°n1123, the Jews will segregate
themselves from their touch (in order not to be Xnv), so they won’t intermingle
with them so much; it will keep contact to a minimum and prevent 1"y.

Summary
Whether the 77°12 on 17°n112 was 7, or M7, it will prevent intermingling and 1"v.

Thinking it over
From the X723 in 1"V it seems that only the 77°13 of 71> was X"7 0wn, but not the

71 of 1N0™wn N173; so what is MdOIN question??

! One is not permitted to be alone with a >33 n2.

2 Since we cannot seclude ourselves with 7’1112 they will not be likely to seduce us to serve 1"v.

3 The onan were 13 that anything which 37°m32 touch is Xnv like a 773 would touch it.

4 There is no Mo°X on T°; there is intermingling, so the 37°1112 can still influence the 78w to serve 1"v.
5 See *n v naw.
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